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QUESTION 1

Which statement defines horizontal scaling in IBM Cloud?

A. It requires application downtime.

B. It is referred to as scaling infout of an application.

C. It is referred to as scaling up/down of an application.

D. It can be done by increasing/decreasing the memory or number of CPU cores of an application.

Correct Answer: C

QUESTION 2

Why would a developer choose to use the Kafka API rather than the Kafta REST or MQ Light APIS?
A. The developer is familiar with AMQP messaging

B. The Kafka API is simple to use in basic functional testing.

C. It offers lower latency and higher throughput.

D. The developer wants to read data from a topic using a SQL-like query language.

Correct Answer: D

QUESTION 3

In IBM API Connect, a user is unable to subscribe to a billing Plan with a Product. How can the error be solved?

A. Ensure that the correct version of Node.js is installed

B. Enable or increase the permission level of cookies in the browser settings

C. Close the already started instance of the API Designer in another command window
D. Ensure that there are fewer than 25 instances in the IBM Cloud APl Connect service

Correct Answer: D

QUESTION 4
Which is an application design pattern for avoiding cascading service failure?
A. Nanoservice

B. Circuit Breaker
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C. Service Discovery
D. Service Authorization

Correct Answer: B

QUESTION 5

What is the limit to the number of catalog assets in Watson Studio?
A. 10.000

B. 500,000

C. Unlimited

D. 1,000,000

Correct Answer: C

Latest C1000-007 Dumps C1000-007 Practice Test C1000-007 Study Guide

Latest C1000-007 Dumps | C1000-007 Practice Test | C1000-007 Study Guide 3/3


https://www.passapply.com/c1000-007.html
https://www.passapply.com/c1000-007.html
https://www.passapply.com/c1000-007.html
http://www.tcpdf.org
https://www.passapply.com/c1000-007.html
https://www.passapply.com/c1000-007.html
https://www.passapply.com/c1000-007.html

